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A S2eld 3
. 2ABN . JjE 22

el A FE 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 4,000
FURHAISE IHLBAIA 2,700 2,700 0
Jl 2,700
202 04l 2,700 2,700 0
) 2,700
01 =LHO LI 2,700 2,700 0
O3Z=+H =X HRFA 2,700
Il 2,700
MENGHE SRAISE (HEALY) 10,700,000 9,468,000 1,232,000
403 AXIEHHSAH=201H 10,700,000 9,468,000 1,232,000
01 AIXISHHA2EE 10,700,000 9,468,000 1,232,000
OdEHotd S 10,700,000
HE2E H2FAHY 1,500,000 300,000 1,200,000
= 1,500,000
403 AXIEHHSAH=201H 1,500,000 300,000 1,200,000
= 1,500,000
01 A= 2L 1,500,000 300,000 1,200,000
CHIZ28 MZAHE 1,500,000
= 1,500,000
IIEE2LSSHeAE £ X 3,214,287 5,134,000 1,819,713
= 3,000,000
S 214,287
403 MR HHMSAHE01H 3,214,287 5,134,000 A1,919,713
= 3,000,000
= 214,287
01 AXISHA=2 22X 3,214,287 5,134,000 1,819,713
OIEER33HelAE £ X 3,214,287
= 3,000,000
= 214,287
SusSHH @IES2 198,411 197,500 an
= 175,807
== 22,604
308 AHXIEMSOIH 198,411 197,500 an
= 175,807
< 22,604
01 HAHHBSEEXS 198,411 197,500 a1
Otfus+H tHEAZAE ZLHE 70,470
= 62,442
= 8,028
OttussI eS| AIHE olHE
It 127,941
= 113,365
s 14,576

|
w
|




A S2eld 3
. 2ABN . JjE 22

Rl A FE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAONF A FA 78,500 1,795,900 1,717,400

201 er23 | 3,500 0 3,500
01 At2teltl 3,500 0 3,500
ON=2aEXMCAE 8 & WS 3,500
403 MR HMSAHE01H 75,000 1,795,900 21,720,900
01 MHXIHH A 22 75,000 1,795,900 1,720,900
OLUEA AFEIHI| ESAHY 45,000
OAFHIELIYXE ESAt 30,000
SSEAY EXPDHE K& 545,000 1,005,640 460,640
403 TR M SAH=01H 545,000 1,005,640 460,640
01 AR A =2 £ 545,000 1,005,640 460,640
OZss=ta4a X € HAX2 545,000
Cgac)l 25 NE 100,000 150,000 250,000
308 AXIMSOIA 100,000 150,000 50,000
01 HRHHBAEES 100,000 150,000 50,000
e 28 A 100,000
a=== & Kot 2l 138,231,283 143,753,103 A5,521,820
= 587,500
= 34,119,000
[ 103,524,783
CNXS AR (XA ) 908,500 1,056,343 N147,843
[ 805,000
= 103,500
403 AXIEHMSAH=01d 908,500 1,056,343 A147,843
[ 805,000
= 103,500
01 AIXISHHA2EE 908,500 1,066,343 A147,843
OEAXS A=2He 908,500
= 805,000
=S 103,500
A2 FEAIENS(XNARE)(HEAIY) 2,560,000 2,000,000 560,000
403 MR HHMSAHE01H 2,560,000 2,000,000 560,000
01 AXISHHA 22 % 2,560,000 2,000,000 560,000
OLAE =EAIE HEMS 2,560,000
a2 Y 25,324,200 22,581,085 2,743,115
[ 20,051,000
= 5,273,200
403 AXIEHHSAH=201H 25,324,200 22,581,085 2,743,115
= 20,051,000
= 5,273,200
01 AXISHHA=2E XL 25,324,200 22,581,085 2,743,115
OXga=== Szt At 25,324,200




FA Sl
Hu: 2IEE M 22
el o5 & Kot 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,051,000
=S 5,273,200
=3+ e 13,263,000 11,858,500 1,404,500
= 13,263,000
403 THXI M SAH=01H 13,263,000 11,858,500 1,404,500
= 13,263,000
01 MXIHHA 22 13,263,000 11,858,500 1,404,500
O:=&+& JHIAME 13,263,000
[ 13,263,000
SHELSEFNLE(NAXS) (HEAY) 88,541,783 80,492,530 8,049,253
403 MR HHMSAHE01H 88,541,783 80,492,530 8,049,253
01 A= 2L 88,541,783 80,492,530 8,049,253
sOHEdEsHe 88,541,783
St=aot= 83l 8,000 8,000 0
201 et 3| 8,000 8,000
02 s3=gHl 8,000 8,000
Osgt=dot+T altl 8,000
Kot 28 - 22| K& 50,000 95,500 45,500
403 X SHHMSAH=01H 50,000 95,500 A45,500
01 AR A =2 & 50,000 95,500 A45,500
OXlot=22252 4X| X3 50,000
Aot=Set2tel2g 64,000 64,000
201 eer23| 64,000 64,000
02 S3=gl 64,000 64,000
OXict-=SEEEAIAE 232l 64,000
FEINEFES WF 380,000 380,000 0
308 AFAIEHMSOIE 380,000 380,000
2 d+=uF3 380,000 380,000
O=ZNERgs d=uF=s 380,000
H=dE SZHIS 600 551 49
201 er23| 600 551 49
01 At2teltl 600 551 49
OHcsds ZdHS 600
Kot 2F - 22 403,600 46,100 367,500
201 fer23y| 3,600 3,600 0
03 A= I 3,600 3,600 0
O, Az & 72012 Kot &2 €k
;IS 3,600
403 AXIEHHSAH=201H 400,000 42,500 357,500
02 SI12S0ItH et =& 2 €A I 400,000 42,500 357,500
OsY Xsts=22 A= 400,000
JHSUiHl Xlot=s= JHe 225,000 85,000 140,000




FA Sl
Hu: 2IEE M 22
el o5 & Kot 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 225,000 85,000 140,000
02 SISt 2 S A AIEHI 225,000 85,000 140,000
OBg N2 Il ot S =8
X EALESA 225,000
Yot AFY X 2,405,100 910,080 1,495,020
403 AXIEHMSAH=01d 2,405,100 910,080 1,495,020
01 MXIHH A 222X 2,405,100 910,080 1,495,020
OXlga=r A0S s+22 EXAMY 870,000
OLAZETAIE M A=l ALY 192,000
OR+2 Segacl N2 243,100
O0Sat=E AIEME AMY 100,000
Oztdii==Xl XAt 1,000,000
Ngat=E HA3SY (XIS (HEAY) 3,510,000 3,510,000
403 AXIEHHSAH=201H 3,510,000 3,510,000
01 AR A =2 £ 3,510,000 3,510,000
OXgals=E Ha23Y 715 3,510,000
T AEUE HSHAH 7= 587,500 0 587,500
= 587,500
403 AXIEHHSAH=201H 587,500 0 587,500
= 587,500
01 AXISHHA 22 % 587,500 0 587,500
OF=& 428d= USHA 2= 587,500
= 587,500
ot== 22| 253,765,715 197,723,500 56,042,215
= 211,680,000
& 42,085,715
St=Eol X & 2el(Gt=2HFHI) 109,650,000 50,082,000 59,568,000
= 87,673,000
= 21,977,000
403 AXIEHMSAH=Z01d 109,650,000 50,082,000 59,568,000
= 87,673,000
= 21,977,000
01 XIS A=E £ 109,650,000 50,082,000 59,568,000
Odt==2t)1 EH 109,650,000
= 87,673,000
S 21,977,000
St=Eo AXl ¥ Ze(ZAIESUS) 10,480,000 4,680,000 5,800,000
= 9,223,000
[ 1,257,000
403 MR HHMSAHE01H 10,480,000 4,680,000 5,800,000
= 9,223,000
= 1,257,000
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2A: S2e|E
B 2xPA -l 22
= e - (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AXIHNK2EE 10,480,000 4,680,000 5,800,000
OZAE= U8 10,480,000
= 9,223,000
= 1,257,000
o=l ARl & A2l (ot==HelAlL) 27,004,000 22,969,000 4,125,000
= 20,186,000
& 6,908,000
403 REXISHHIS K201 & 27,094,000 22,969,000 4,125,000
= 20,186,000
& 6,908,000
01 AIXISHNA2EE 27,094,000 22,969,000 4,125,000
O3356t=HelAld 27,094,000
= 20,186,000
T 6,908,000
ot=Eo AXl & 22l(sHE0IS0==&I) 50,601,715 53,715,000 A3,113,285
= 41,450,000
T 9,151,715
403 REXISHHIS K201 & 50,601,715 53,715,000 A3,113,285
= 41,450,000
& 9,151,715
01 XEXISHI =22 & 50,601,715 53,715,000 A3,113,285
Os0EDSo=S 3| 50,601,715
= 41,450,000
& 9,151,715
ot=Eo X ¥ 2e|(HHIGH=H e EEX]) 7,435,000 18,856,500 A11,421,500
= 6,163,000
= 1,272,000
403 XX SHMSAH=01 A 7,435,000 18,856,500 211,421,500
= 6,163,000
& 1,272,000
01 XEXISHHI A= 2 2 7,435,000 18,856,500 A11,421,500
OHE2Iot=H el EEX] 7,435,000
= 6,163,000
& 1,272,000
St=Eo AX & Zel(otHMel=THoISAIY) 9,120,000 8,727,000 393,000
= 8,184,000
& 936,000
403 XIS MSAHE01 A 9,120,000 8,727,000 393,000
= 8,184,000
= 936,000
01 AXIHANA2EE 9,120,000 8,727,000 393,000
Odt==xel OIS AL 9,120,000
= 8,184,000




FA Sl
B 2xPA -l 22
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 936,000
St=Eo #X & 2e(BaHelAlE) 1,463,000 602,000 861,000
= 1,463,000
403 MR HHMSAHE01H 1,463,000 602,000 861,000
= 1,463,000
01 AXISHHA=2EE 1,463,000 602,000 861,000
O2bXelAld 1,463,000
= 1,463,000
St=Eo AX ¥ 2tel (o2t HEH| BILYUZ) 36,126,000 356,945,000 181,000
= 36,126,000
403 MR HHMSAHE01H 36,126,000 36,945,000 181,000
= 36,126,000
01 AR A =2 £ 36,126,000 36,945,000 181,000
Odt==2t18d| BILS U= 36,126,000
= 36,126,000
ot X & 2el(==ot-2t2 JLXAL 1,212,000 1,163,000 49,000
= 1,212,000
403 MR HSAHE01H 1,212,000 1,163,000 49,000
= 1,212,000
01 AXISHHA =2 & 1,212,000 1,163,000 49,000
- Sots=22 Y TA 1,212,000
= 1,212,000
St= AN X1 584,000 984,000 A400,000
403 XM SAH=01H 584,000 984,000 A400,000
01 AR A =2 £ 584,000 984,000 400,000
O3 &ot=xlAlE EXIXSH 484,000
Odt==AtY £XIXE 100,000
Hegs(S2eld ) 4,133,380 2,429,480 1,703,900
WRHeHXIE(S221F 20 464,080 464,080 0
Neiedi= Ole== OlAtatet 464,080 464,080 0
705 D=2 334 464,080 464,080 0
04 Al - EXISHE DI S0==0I ket et 464,080 464,080 0
O&&ot=HlAle A Ol Xtaf 2t 144,183
OXNZaf== Szt At O Ktafat 127,397
OdEiote SEAE Ol Aratat 192,500
SN E(S2elgY) 3,669,300 1,965,400 1,703,900
XL (Ss=8012 XMH3) Ol KHatE 3,669,300 1,965,400 1,703,900
311 XL =0lAHare 3,669,300 1,965,400 1,703,900
02 Sa=8I|12 XS0l At 3,669,300 1,965,400 1,703,900
O0Ns0ELEE S 1,495,800
ONs0HELE S 2,173,500
dF2LIH(S2elZ ) 68,040 68,040 0
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